U.T. Administration of Daman & Diu, Department of Fire and Emergency Services, Fire Force Head Quarters, Nani Daman.

No. DFES/DMN/US-Stores/2011-12/812

Dated : 11 /10/2011

AUCTION NOTICE

Public Auction of unserviceable items/articles in enclosed statement will be held on 19-10-2011 at 11:00 AM at Fire and Emergency Services, Fire Force Head Quarters, Somnath Road, Kachigam, Nani Daman.

Interested parties are requested to remain present on the day and time of auction. The auction items/articles are kept in the premises of Fire and Emergency Services, Fire Force Head Quarters, Somnath Road, Kachigam, Nani Daman for Public view.

The upset price of all the items/articles are shown against their names.

This is issued with the approval of the Hon'ble IGP/Director of Fire and Emergency Services, Daman & Diu vide diary No. <u>SFO-434</u> dated <u>03-10-2011</u>

Additional Superintendent of Police, Daman/DDO Fire and Emergency Services, Daman.

Encl: As above

Copy:-

- 1) All Head of offices in Daman with a request to display the above auction notice on their notice boards for wide publicity.
- 2) The Field Publicity Officer, Daman with request to arrange to publish the above auction notice in local newspapers one each in Gujarathi and Hindi. Cutting of above notice may please be sent to this office with your certification.
- 3) The DIO, NIC, Daman with a request to publish the same on NIC website.
- 4) The Chief Executive Officer, District Panchayat, Daman for wide publicity.
- 5) The Chief Officer, Daman Municipal Council for wide publicity.

Terms and conditions :-

- 1) This auction is on the condition "as is and where is" basis.
- 2) The Starting Bid Amount will be "Upset Price" of the Items.
- The auction shall be held on bid system. Interested bidder shall have to deposit a token amount of
 ₹ 1,000/- at the time of auction for taking part in it. The said amount shall be refunded back to the unsuccessful bidder after the auction.

: 2 :

- 4) An offer shall be considered as highest and final only if the amount of bid offered by the bidder is announced consequently three times uninterrupted.
- 5) The successful bidder shall have to deposit an amount equal to 50% of the highest bid offered as Security Deposit on the spot. Further he has to deposit balance amount within three days from the date of issue of letter accepting highest bid at his own cost. This department shall not be responsible for any loss/damage of the items it successful bidder fails to lift the items within stipulated time.
- 6) The successful bidder shall have to lift the auctioned articles within three days from the date of issue of letter accepting highest bid after which this office shall not be responsible for their safe custody.
- 7) The interested parties should inspect the items and satisfy themselves about their conditions etc. during office hours on any working day upto <u>18-10-2011</u>
- 8) The bid shall be considered as final only after the approval of the competent authority and its decision as regards shall be final and binding on all the persons participating in the auction.
- 9) In case of failure of the highest bidder to deposit the amount of 50% of total amount of his/her bid, the deposit as made for security eligibility to participate in the auction will be forfeited to the government.
- 10) In case of failure by the highest bidder to lift the items within the given period, the amount of 50% of the total amount as per bid will stand forfeited to the Government.
- 11) The right to accept or reject any bid or all the bids without assigning any reason is reserved.

Additional Superintendent of Folice, Daman/DDO Fire and Emergency Services, Daman.

U.T. Administration of Daman & Diu, Department of Fire and Emergency Services, Fire Force Head Quarters, Nani Daman.

LIST OF UNSERVICABLE ITEMS/STORES.

Sr. No.		Particulars of Store Items	Qty. (PCS/Kgs)	Upset price per unit	Total Value
	-	Breathing Apparatus 200 bar SET with cylinder (Vijay Sabre Make)	01	300/-	300
	0)	Set without Cylinder (Mask + Harness)	03	195/-	
2	Diving Sets (Life gem make) with Cylinder		ABWD REFT FOR	alling and	585
3	Imported German Bauer make Air Compressor for refilling of Breathing Apparatus Cylinder Model C3E		02	500/-	1000,
			01	4000/-	4000/
4	30 Ltrs. Capacity Empty AFFF Plastic cans.				
5	Epson LQ1150 24 pin DOT Matrix Printer		243	20/-	4860/
6	Fire proximity Suit (Silver)		01	1000/-	1000/
7	Godrej Typewriter		01	5/-	05/-
8	Ga	s Cutter (Oxyacetylene)	02	100/-	200/-
9	Infl	atable Rubber Boat with Air Pump (Foot Pressed)	01	500/-	500/-
10	Mic	crowave Oven	01	10/-	10/-
11	Ove	en so	01	50/-	50/-
		C DE NOT TRAIL BOOMAGE	02	50/-	100/-
12	Del	Ivery Hose		Total	12610/-
	1	RRL Delivery Hose Length 15 mtrs (SS)		at y is a former	
	2	RRL Delivery Hose Length 15 mtrs (Brass)	02	125/-	250/-
****	-3	RRL Delivery Hose Length 15 mtrs (Brass)	16	125/-	2000/-
	4	RRL Delivery Hose Length 30 mtrs. (Brass)	01	125/-	125/-
L	5	RRL Delivery Hose Length 30 mtrs. (Brass)	11	75/-	825/-
	6	RRL Delivery Hose Length 30 mtrs. (SS)	01	75/-	75/-
13	Vehi	cle Tyre No. 7.50-16 (Dunlop)	01	25/-	25/-
14	Vehi	Vehicle Tyre No. F.78-15 (Ceat Nylon)		25/-	250/-
5	Wate	Nater Cooler (Blue Star) 120 ltrs.		15/-	75/-
6 \	Winc	h wire rope Heavy Duty (hand operated)	01	1500/-	1500/-
7 \	Nood	den saw cutter petrol driven partner make	02	3000/-	6000/-
	-	just enter partier make	01	60/-	60/-
8 F	Fire Fighting Extinguishers.				11185/-
And the second	1	Dry Chemical Powder 4.0.	and the second states	and provide the second	
	2	Dry Chemical Powder 1.8 kgs capacity.	02	10/-	20/-
	3	Dry Chemical Powder 02 kgs capacity.	07	10/-	70/-
-	4	Dry Chemical Powder 05 kgs. capacity.	05	15/-	70/-
	5	Dry Chemical Powder 10 kgs. capacity. Soda Acid 09 lts. capacity	03	25/-	75/-
e		ABC – 5 kgs.	03	15/-	45/-
7		CO2 - 2 kgs.	02	15/-	30/-
8		Mechanical Foam – 9 Itrs. Capacity	03	10/-	30/-
		- 9 Itrs. Capacity	01	20/-	30/-

Sr. No. 19	-	ticulars of Store Items	Qty. (PCS/Kgs)	Upset price per unit	Total Value
19	11-12-2	oct a Rumiture Items			
	1.	Notice Board (Wooden Size 1mtr x 3mtr.)	01	500/-	500
	2.	Wooden Cots	08	50/-	400
107	3.	Wooden Counter at Duty Room. Size (3 x 2 x 2)	01	500/-	500
let)	4.	Wooden Cupboard (Small with 2 racks)	01	25/-	25
20	0	at SET with evaluate	Apparatus 200 bi	Total	1790
20		ap lems			NY STAT
	1.	Battery Charger	01		
<u>}</u>	2.	Computer Hardware (Hard Disk + Motherboard + Keyboard + Mouse + CD Rom)	v (e) em mec el) .01	Diving Sets	25
	3.	Exide Batteries (Small)	02	Inponed Ge	
	4.	Foam Nozzle (FB-5)	02	- Bumano un	
	5.	Rear Guard (Vehicle Truck Chassis)	01	30 Ltrs. Cap	
	6.	RO – Aquaguard	02	Epson LQ11	
	7.	Sign Boards / Hoardings (Metallic)	01	Fire proximit	
	8.	Starter	02	Codrej Type	
L	9.	Valve holder from Acron	01	Ces Cutter (
	10.	Vehicle Jacks (15 tons capacity)	04	Inflatable Ru	
	11.	Wireless Set Meltron RT4-MKR (SI No. 35080486) Mobile - 1025 (GGPL) SL.No. 1010 Transreceiver	02	Nicrowave (Cven	10
	12.	Empty Toner Cartridges	15	15 / kgs	
	13.	Vacuum Cleaner	01		
	14.	Search Light (Torch) with battery charger	06	RRLD	
-	15.	Calculators (Citizen / Casio)	04	RRLD	
× _	16.	Emergency Light (Wooden Tube light box)		TINA	
_	17.	Silicon Roller	nel esoH019/11	ARRE	
_	18.	Heat Roller		5 RALC	
	19.	Pressure Roller	01	1 IRR B	
-	20.	Recovery Blade		Vehicle Tyre	
	21.	Blade 'D'	01	Vehicle Tyre	
	22.	Rope (Coconut / Katha)	U	W Iter Coole	31
	23.	Vehicle Scrap (Hardware) and Other Scrap.	NUC WEEN BO	Winch wine r	
	24.	News Paper Scrap	t bloued texture	05 /1	51
1				05 / kgs	
		8 kgs copacity U2 10	e mical Powder, 1	T Dy Ch	
	1.2	2 kgs capacity	emical Powder 0	2 Dry CI	

Additional Superintendent of Police, Daman/DDO Fire and Emergency Services, Daman